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Std : Three Total Marks :
20
Name of the Student : ... Roll No. .................
Name of the School @ ... Date ¢ .....coooeee.
Q. 1) Write two correct rhyming words for the given picture.
(ECL2- 5.2, 02.17.01) (02 Marks)

S HR ) J 7)) NSRS
RN

Q. 2) Tick the correct rhyming word for the following picture. (01 Mark)
(ECL2- 5.7, 02.17.01)

D 358 G

Q. 3) Choose the correct expression for the given event. (01 Mark)

(ECL2- 6.5, 02.17.05)
2) 3)

Q. 4) What will you do? Tick the correct option. (ECL2- 5.3, 02.17.03) (01 Mark)
(Teacher explains the situations, tells the given option and asks student
what he/she will do)

e You will eat ice cream.

You are sick. e You will play with friends.

e You will go to the doctor.

Q. 5) Rearrange the words to make meaningful sentence. (01 Mark)
(ECL2- 6.11, 02.17.16)

is good he a Dboy.
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Q. 6) Read the sentence and draw the picture. (ECL2-6.7) (02 Marks)

Q.7

Q. 8)

Q. 9)

Observe the picture carefully and frame a question
about it. (ECL2-6.1, 03.17.15) (02 Marks)

(Teacher shows the picture and asks students to observe

A kite is flying in the sky.

&

...............................

it and frame one question about it.) g
Read the text carefully and write the answers. (05 Marks)
(ECL2-5.12, 03.17.07)
A pig

A pig in a wig

I see a pig.

The pig 1s wearing a wig.

Holes he likes to dig.
a) Which animal do I see? (Tick the correct answer) (01 Mark)

1) A dog 2) A cat 3) A pig
b) What is the pig wearing? (02 Marks)
c) What does the pig like to do? (02 Marks)

......................................................................................

Observe the picture carefully and answer the questions orally.

(ECL2-6.6, 03.17.16)
(Teacher shows the picture and asks student to observe it carefully.
Teacher asks the relevent questions orally and student answers it.)

(05 Marks)

a) What is it?

b) What is the date?

c) What day is it?

d) Which class is this?
e) Whose birthday is it?
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